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\}/Translate the following passages : 4x4=]
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(¢f FIETHG TR <=7 T yufa: yfaefy o7 76 [ TEGherar T4
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(d) | S : |
ﬁﬂq{qjﬂmw,wawwﬁﬁ@mw-ﬁﬁﬂﬁqﬁ,

Or / 71231 / G4

37y gegdard Paarl
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\ZAlain the following verses with reference to the context :

5x2=10
2T -STHS (YRR TR CIFCIROT AT ] -
oPTH-ITS (WIAC A5 LT A1 3¢ -

() T fret R
AR 5 F-q AT 730 Tom )

Or / 731 / §2H]

@1 37 3 91 981 JAT 77 TEHAVIE:
T AT 1T SIS 7 |

(b) TOTHIES A4 JATRHGA |
S CHIREBICHEICH CERIEEG ]

Or / 71231 / 5%

T FEAT FOI T T 9 |
a7 #fifdar yfagar et i

3. Elucidate the idea of the following : 4xD=8
oo THAaRe ©R q2eR o
Ao 7T ISR R RGOS T

@) s P R T |

Or / 1231 / 943l
AAREYAT-RYEafe |
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i ]

&, X3=12
*ﬂ'/(‘wer the following questions : .

O 2PRARE Taq B -

i}mﬁ = q T\q (T
\@Xm:::d the leader of the monkeys take his revenge on

king Chandra?

IR TS0 (R 9] 5UR @27 ATy 178 ?
IR TS e qmen vue o Aoy feafze 2

: - By 8 ',)
. (b) From which drama the lesson ¥Igege o’ is adopted:
Give an introduction of the dramatist.

WTTEEH] gJJT:’ RIS |2 e O S i M ORAIR P (2R 7
o «ft ey fm |

YTTEEE] T SINS 19D (T A6 (AT 3R 1 R ? AP
UL G IR R K

(c)” Answer the following questions in Sanskrit :

O 2PRIRT TeT HVPee o]

AT PABER TBI P A
(i T H 3 FHAq?

5. (a) Answer the following questions : 2%x5=10

el LIC SR T RE R

A =BT TEH (I

(i) “aed Y 9Oy 99 99 geTEd |
What is meant by ‘@&’ here?
WIS TR *_ore & @i 2
QA TR e R R 2
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(11) TR geA?
Who asked this question and to whom was it asked?
What is the ‘949’ referred to here?

G 2 I, IR Sffear W & T’ U TEY ]
(277

G2 2pfb
<q]

IS fo@py IR 2 9 7’ -9 U TCEy

erive any two of the following words
o XA R @Iel o s fefy <941
A *ABTAR @ el yioa Jeofe fefy I -

ITH: ; AW ; Teldl ; THA
(i) Fill i1n the blanks :
Wﬁﬁ*ﬁqw :

forr G faa +frat famm QW ey

W did Sankaradeva do to spread his religion?

X[SFICE (O8F Y46 A1) [ Ff{fee 2
EIMR OF QLB &0 1§ Icaieem 2

k(b)/jf) How many Chapters are there in the ‘“WJ&f"? 1
‘TS (301 SR (R ? '
‘TS FUH TCR AR 2

\mt 1s the name of the W&? 1

‘TAF "G 719 1§ 2

‘TIFR’ -qq M P ?
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mw the Sanskrit cquivalent of the word Tfa 1
R 9 AFS ﬁﬁﬁ'ﬁﬁ ﬁtﬂ ;
I IR Heme aifeers ma

Ws SUperior to happiness? L

IS Ty 50
TR (= Tey o

(v) Fill in the blank :
41 313 199 91
TR 2 Fea

___ Tomafif,

\Mho 1S the author of the lesson T -GOIRAT? 1/
TG -GORAT 191 e o (I ? -
TG -FRA T 215787 oo o

\W‘wlémllﬁ!ﬁaq’ is a drama_

Write Yes’ or ‘No’.

AR Q3= 5% |
g SRCE Tl
ATHHFTARE @b 5 |

L \‘.-r

B R e e e

rite the word opposite in meaning of ‘Y,

1
TR 4R W Jowmn i fo | -
T 0 RS s Ry ey |
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Mt for the case-endings in any two of the following :
2x2=4

TR R @l R sre-fefe fdn 34
A @ @I 4foa FEe-fRsfe P T -

‘FR’ in Q. No. 1(q)
[ 1 7R (@) 2P |

[ 1 R (a) 20 ]

‘Tl in Q. No. 1(b)
[ 1 7R (b) 299 ]

1 7R (b) 2T |

‘@I’ in Q. No. 1(c¢)
[ 1 %R (c) 299 |

[ 19 (c) 2P |

‘99’ in Q. No. 2(a)
[2 R (a) XIS ]

[ 2 R (a) AYCS ]

(b) rive any two of the following : 2x2=4
T R @I o Peoife e 4

WNMWTQQ@]%WW

-

‘TEaE’ in Q. No. 1(a) Or -~
(17 (a) M3 29© |
[ 1+ (a) ST 20O |

‘FEREfd’ in Q. No. 1(b) Or,
[ 172 (b) 7123 2P |
(1 7R (b) ST 2P |
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AP in Q. No. 2(a) Or
[ 2 72 (a) T1377 279 |
[ 2 7 (a) WY 24T |

‘Te in Q. No. 2(a)

| 2 N (a) 99 ]

| 2 R (a) 24CS ]

a)
o R Tea o e foa

CH @ A YOI *F=A Al -
‘I in TIAT singular

[ POrI RefEa 36 |

[ PO fRefed o |
‘3% in TE1 plural

[ T3 fefe IZI6© |

[ 79 Rsfes 3=aveA |

Y’ in g™ plural
| faom Refeq Ig36e |
[ el Refer 3236 |

‘Fu’ in ¥EAT dual
[ A f[Fefeq g |
| 1efR) frsfies e |
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Decline any two of the following
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(b}~ Conjugate any two of the following

ool U I o aredet fere

ACHT A qioa qroF©l Gl
VR in @ 3
| % ehe’ = |
[ @iy e o |
VI3 in @1 M
| R RsfeR = |

| (T fRrefe = |

VF in fafafeg (smewe)

| Rfdfere fRefea (Sreaom) 51 |
| Rfdfere Rsfem (Smacaem) o |

2 .

[ 5% Rsfea e |
| 7% fshex 37es ]

(c) ame and expound any two of the following :

o T I oR APTARY ol TP W 1
MN5a (@ @] oA G o SACT A e -

AELD A U SRR AP LE

(d) ~Change the voice In any one of the tollowing :

wed T @I A01] M0 *qE F41

(ii) T AT AR T4 |

(ifi) THAT FAAH |

‘B18-SX (E)/42A

dT |

1%x2=3

2x2=4
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(€) ~Define and illustrate FT FRF’.
T PP @ HF Tz g |
Y PRI -9 IR 932 T 7S |

Or / 331 / 9241

f the

Give examples, in suitable sentences, of any two O 3
11/2’(2"'3

following :
TG TS o W @Al o e o
S A @ I 7B THRA] WS
) w3 - T HH
1) T gt
(1) ¥3: FHE:
(iv) 3o Fgivom

()~ Give the resultant forms of any two of the following :
1x2=2

O] R @I o foom e By
A (@ @A 46a f=om w9 e -
(i) NF + P + o2 fa
LGN + P+ e fi
\(Mw+q{+@ﬁr

(iv) N7 + & + w2 fq

\E./’Prﬁslate into Sanskrit any four of the following sentences

2Yax4=
o U I BIfR0Y AR gt Sam 3 - P

A5 € BIRfG AT FFCS SR A -

(a) he children are playing in the playground.
'J1-(RRIAIREICE (oS (4 S |

(RCETCICAA] (YT WICo (o] FACE |
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(b) /Which class do you read in?
T R @F e TR 92
Sl (I IS SR FA1?

(c) Rama killed Ravana, the kKing of Lanka.

7T FEE T IR ze IR |
T FTFE IS TR I FCARA |

(d) /Nothing can be accomplished without hard work.
offepes SRR (@I PR A |

A (@I I STEE I TR A

He is receiving instruction from the preceptor.

C1 SHA (AT SHEE e

*
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